P ——

Bg Replaces Toro Greensmaster 1000 Parts

C Mower - Model 04034
~g®™  Light Kit - Model 04057

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Mower - Model 04034
~g®™  Light Kit - Model 04057

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Rﬁ JR Replaces Toro Greensmaster 1000 Parts

Electrical, Gauges and Controls

108-6471,
30 R151712 112-9177, LED Oval Work Light - 12 LED 30w 2
94-9024

Hardware

321-10,

70 R400118 400118

Bolt - Hex HD 1/4-20 x 1-3/4 GR5 1

33114-016,
42-9230,
42-9270,
48-7680,
48-7690,
48-7700

71 R33114-016 Bolt - Hx HD 8mm x 1.25x 15 1

72 R3218-1 3218-1 Nut-Jam 1

01-191-0518,
22-12-AJK,
73 RP457-2 3218-2, Nut - Jam 5/16-18 Zinc 1
513299,
P457-2

01-188-0518,
22-12-AID,
32111-4,
3217-4,
3217-6,

73 R443106 3218-2, Nut - 5/16-18 Y/Zinc Plated 1
513295,
513412,
915112P,
915978,
915979

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




T

~g™

Item R&R

No

Part No.

Replaces Toro Greensmaster 1000 Parts

Mower - Model 04034
Light Kit - Model 04057

OEM
Part No.

Description

Qty
Req

Order

Quantity

74

R301504

2296-42,
301504,
32127-24,
32128-33,
32146-17,
3296-16,
3296-42,
3296-42,
915661P

Locknut - ESNA 1/4-20

74

R32128-33

32128-33

Nut - 1/4-20 Flanged Serr

75

R3255-9

3255-9

Washer - Lock 3/8 Ext. Star

76

R3256-22

24-9-BD,
3-1032,
3256-1,
3256-22,
93-0954,
93-0989

Washer - Flat 1/4 Yellow

76

R33094-00

33094-00,
93-5914

Washer - Flat - 8mm Hardened

76

R453023

3256-1,
3256-22,
3256-72,
33094-00

Washer - Flat 1/4

76

R3253-3

01-166-0070,
01-166-0410,
23-9-GD,
24-7150,
3253-3,
3256-1,
352-167

Washer - Lock 1/4

77

R3290-378

30-1740,
3290-378,
52-6570,
60-4340

Cable Tie

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




